14,000 LBS. (6350 Kg.)
Bolt-on Alignment Kit
Installation Instructions
S100129, S100130, S100131
S100132, S100133, S100134
S100135, S100136, S100137

Model Max Wheel Base Max 2 Wheel Alignment | Max 4 Wheel Alignment | Min 4 Wheel Alignment
S100129 158" 142" 142" 89-1/4"
$100130 182" 160-1/2" 156-3/4" 89-1/4"
S100131 215" 195-1/2" 171-3/4” 89-1/4"
$100132 158" 142" 142" 89-1/4"
S$100133 182" 160-1/2" 156-3/4" 89-1/4"
S100134 215" 195-1/2" 171-3/4" 89-1/4"
S$100135 158" 142" 142" 89-1/4"
S100136 182" 160-1/2" 156-3/4" 89-1/4"
$100137 215" 195-1/2" 171-3/4" 89-1/4"

© July 2014 by Vehicle Service Group. All rights reserved. C08906.4 IN20733

Rev.- 7/1/2014




1. Remove bolts that attach front wheel 2. Place Front Spacer so that the bolt 3. Drill 8mm hole through runway using
stop and runway to yoke. holes align with the wheel stop and the tab as a guide, insert bolt.
runway holes. Boltin place.

Note: Spacer rests on top of wheel stop.

Mounts On Top
0f Wheel Stop

D

Use Hole In

Tab As

A Quide To

Drill 8mm Hole
7

V4

M8 Nut
Underside
Of Runway



4. Place Movable Spaceronrunway and 5. Place second Movable Spacer on 6. Inserttabs of the second Movable

insert tabs of Movable Spacer into runway. Spacer into the slots of the first
slots of Front Spacer. Movable Spacer.
Note: Movable Spacers for L and EL Note: Second Movable Spacer for EL
models. model only.
4
S Q¢ )
=

(1) Required for

“L” Models
(
(2) Required for . Space o
EL" Models Mo\/a oﬂtspa
( f
leS 5o i
o °

> 4 Z



Place Radius Gauge Pad so that the 8. Inserttab of the Long Spacer into

front edge of the Radius Gauge Pad the slots of the Radius Gauge Pad.
rests against the rear rib of the
Movable Spacer. Note: Leave a small (1/8”) gap for easy

movement of Movable Spacers.

(1) Required for
“L" Models
(2) Required for
“EL" Models

Install



10.

Center and square Long Spacer on
runway.

Drill 8mm holes through runway

using the tabs of the Long Spacer as
a guide. Insert bolt in front tab of Long
Spacer.

Note: Do Not Fully Tighten
Unil The Remainder Of
Runway Components Are
Installed

Note: Do Not Fasten This End

Of the Long Spacer Yet

Bolt Will Have To Be

Installed Through

The Rear Steer And Long Spacer

Underside
Of Runway

Use Holes
In Tabs As
A Quide To
Drill 8mm Holes




11. Align bolt holes of Rear Steer with 12. Angle the slip plate of the Rear Steer 13. Angle the slip plate again to access
holes of Long Spacer. to access front bolt holes and insert rear holes. Drill 8mm holes in runway.
bolts.

! To Allow Access
L_  ToFastening Holes

M8 Bolt
Pins To Outside

Note: Do Not Fasten This End 0f Runway

0f the Rear Steer Yet

Bolt Will Have To Be

Installed Through

The Rear Steer And Ramp Support Spacer

Use Holes

In Rear Steer As
| A Quide To
| Drill 8mm Holes
& : M8 Nut M8 NUt-
E Underside Underside
: Of Runway Of Runway



14. Slide tabs of Ramp Support Spacer

15.

16.

17.

18.

under the rear of the Rear Steer. Align

bolt holes and insert bolts.

Remove hinge pin from ramp.

Align hole of Ramp Spacer with the
hinge pin hole of the ramp.

Insert hinge pin.

Repeat process on other runway.

Cotter Pin

M8 Bolt

o m—————————

M8 Nut
Underside
Of Runway



Parts Breakdown

Item | Description “S” Model Part# | “L” Model Part# | “EL" Model Part# | Quantity
(S100129, S100132, | (S100130, S100133, | (S100131, S100134,
S100135) S100136) $100137)
1 Ramp Extension S$110508Y S110411Y S110411Y 2
2 Ramp Support N/A S$110412Y-L S110412Y-EL 2
3 Rear Steer S110413Y S110413Y S110413Y 2
4 Long Spacer S110416Y S110416Y S110416Y 2
5 Movable Spacer1 | N/A S110417Y-ZP S110417Y-ZP 2
6 Movable Spacer2 | N/A N/A S110417Y-ZP 2
7 Radius Gauge Pad | S110418Y-ZP S110418Y-ZP S110418Y-ZP 2
8 Front Spacer S110419Y S110419Y S110419Y 2
9 SS Radius Gauge | S130205 S130205 S$130205 2
CS Radius Gauge FA5157 FA5157 FA5157 2

~—

[




Rear Steer S110413Y Parts Breakdown

Quantity

o
> ~N| N

— =] M|AN|—|—— M OO M| N

—

|

—|N| | —

NN S| — || O
N = el el el = oO|lb|o|lo|N| —
O1.|095V|1_1.n4_—|_xx
gl - b|lolo|lw|la]w|w©
Ol —=|—|AdlNo|loo|lo| x| | L
HEEEREEEEEEB R
—| — —
aln|lnlc|lun|lT|c|lunlunnlwrnn| 2| o|lm

= =2} 22

c 5 g of ®
S ) c &« of| o
S|l o © ‘© S|l = | w
AR HEI Y Y T E=)
S|z DnDlnnnmgz.l
2 elelZ]| a|ls|lsl=s|a| -S| x| %
ew.aﬂaﬂqmww“mam.oono
all|la|lala|l&s|Z|Z2|c|(2|A|S|=
e
=) ol —|«~
El—|lN|m|g|w]|o|~|o||—=]|—]|—




NOTES:

10



NOTES:

11



Vehicle Service Groups"'I
2700 Lanier Drive

Madison, IN 47250, USA
1-800-640-5438
www.vsgdover.com

VEHICLE SERVICE GROUP

© Vehicle Service GroupSM

All Rights Reserved. Unless otherwise
indicated, Vehicle Service GroupSM
and all other trademarks are property
of Dover Corporation and its affiliates.



